JFC GCE R R I

ISO-6431EIZIZ IR KR EL(AM) , FEE
HEVE RE &7 848 RIS R B S48 5 S R AL

o SRELTIEA X PRI
* FENEREINME , FAIEREE

o EEERAEE , A ERZHES,
ENEES

MiBHIEERE, ZFHE S

R EL4F 1%

AL AN TE (mm) 32. 40. 50. 63

EHRE BEEMm= R (FEEM/1SO-VG32)
T1ERE 11 (kgf/cm?) 0.5~9

TERE (O 0~+60

EEIRE (mm/s) 50 ~750

Bfirkg(AFT)
oviE | mE | em | SR TFED (Kgflem® )
(mm) | (mm) | 75 (@] (cmf-i 3 4 5 6 7

HE 8 24 32 40 48 56
32 12

i 6.9 |20.7|27.6|34.5|41.4|48.3
40 16 H | 12.637.8|50.4| 63 |75.6| 88.2

B 110.6|31.8|42.4| 53 |63.6|74.2

# |19.6|58.8|78.4| 98 [117.6/137.2
50 20 .

FI | 16.5/49.5| 66 |82.5| 99 |[115.5

# |31.2]93.6(124.8/ 156 |187.2/217.4
63 20 N

i 28 84 | 112 | 140 | 168 | 196

285



JFC

NElBEETH RS

N

GCEERIEL

I I
@ ]

g | SRR

& @ % _ =
I I - \/JW.H NN P’

ST )

© © — @——«}H%W—%———%— i

A A wﬁfﬁ e <

Nl 2 N A
ook THEE | BB | 2% EHEHE wE | 2% THEHE e
0 1y 1 1) | mEOmIE 1 2) | B 1
@ 8 1 1 12 | mEmE 1 @ | mEsm 1
© MEHE 1 (139 | mEmER 1 2y | mie 2
@ 5k SR 1 BEE 1 HE! 1
(5 kS 1 (15 | #% 1 (25 | HEEE i 4
® BEHE 2 2 4 T IR0 1 1 E 1R 1
@ % EORIE 2 17 | mEHTE% 8 1) | wigmzek 2
5% 1 BEBHOBEE | 2 JEE AR 1% 33 42 % 4
©) B35 2 1 1B 1A IR 4 2
EEHE 1 BB 2

286




JFC GCE BRI

Pk on 12 21T 1

pe WE 25 50 75 | 100 | 125 | 150 | 200 | 250 | 300 | 400 | 500 | 600 | 700 | 800 | 900 |1000
32 ° ° ° ™ ™ ° ° ° ° ° ° ° ™ ° ™ °
40 ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
50 ° ° ° ™ ° ™ ° ° ° ° ° ° ™ ™ ° °
63 ° ° ™ ° ° ° ° ° ° ° ° Y ° ° ° °
== —
B &l B3R
AMGC BU — 63 | 200ST Txn
l l l l l
Al %5 i % T8 4F EEY 718 fisg R 2R

\ \ \ \ \
ISO BUE}TQ%HN?( 32:32mm - ;ﬁ.mJFSO']

5 40:40mm 2 TZEEE%k = M

] z

&1 50:50mm B GE:FRAHE

H 63:63mm = P:PNP,31& H 45,

i) Il .

== # EEER2K

T 17

>z =1

= 2 N:NPN, 31 i 42,

12 EEBR2K

| n: g2

il St SRR

HEER A

BU: BiE#&

pELS

ti JFS-01

287



JFC GCEIEREL

BB TG
TG SW1 ~ SW2 AL L7+(T 2
PY-wY g
&= © >
LA g o °
(@)
g*f*%**f&n’fgé e ,7,,@,7,7,7,,7@, <
R Bl
o & A
il —
| B I - |
RV L2 AD L3
AB BC| L1 L4 L6+{T#2
L5+{T#2
RS TG RT
g $/
—E | | &
o :
= | oy 9
B < RC

R AA | AB|AC|AD | AL/ BA|BB|BC| C |L1|L2 | L3|L4 | L5 L6| L7 RA|RB|RC
32 97 |49 |50 | 24 14393 |45 12|12 |25 |39 |76 125|187 25|94 |6.6| 11 | 6.5
40 115)| 58 |57.5| 28 | 11 |112| 55 | 12 | 16 | 25 |44.5] 81 | 140|207 | 30 |[105| 6.6 | 11 | 6.5
50 137] 70 |69.5| 34 |18.8/134| 65 | 15 | 20 | 25 |48.5| 79 |150|225| 35 [106 14.5
63 152| 85 [84.5| 34 |15.3/149| 80 | 15| 20 | 25 | 48 | 111 [182]242| 20 |121] 9 | 15| 9

©
©

N T®| Rs RT |RV|SW1SW2 TC|TE|TG|TH
32 |M6x1.0 [M6x1.0 | 12 | 15 | 17 | 78 | 61 |32.5| 74
40 |M6x1.0 [M6x1.0 | 14 | 15| 19 | 84 |69 | 38 | 87
50 |M8x1.25|M8x1.25| 16 | 22 | 24 |100| 85 |46.5/ 104
63 |M8x1.25|M8x1.25| 16 | 22 | 24 [105[100]56.5] 119

288



